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QUESTION 1

The system that is established by the application of the Hypervisor Clustering pattern uses a dedicated cloud storage
device for each clustered hypervisor, to support the live migration of virtual servers across the hypervisors.

A. True
B. False

Correct Answer: B

QUESTION 2

In a cloud architecture resulting from the application of the Cloud Bursting compound pattern, the

mechanism is used to maintain synchronizing between a cloud consumer\\'s on-premise and cloud-based IT resources.
A. hypervisor

B. resource pooling

C. automated scaling listener

D. resource replication

Correct Answer: D

QUESTION 3

The system established by applying the Elastic Network Capacity pattern ensures that individual cloud consumer
are isolated, and that each cloud consumer is using its own set of

A. virtual servers, physical uplinks

B. cloud storage devices, virtual switches
C. traffic workflows, network ports

D. hypervisors, network switches

Correct Answer: C

QUESTION 4
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After applying the pattern, a system is established in which a is used to provide virtual
servers with direct access to LUNs.

A. Direct LUN Access, hypervisor

B. Redundant Storage, cloud storage device

C. Direct LUN Access, physical host bus adapter card
D. Redundant Storage, virtual switch

Correct Answer: C

QUESTION 5

The Cross-Storage Device Vertical Tiering pattern can be applied to enable between cloud storage
devices.

A. Verticalscaling

B. Live migration

C. High connectivity
D. Dynamic allocation

Correct Answer: A
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